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HCF & LCM - 15.Qu.eu. omib 15.8.10
BOQu@p Qurg euGsHd - LS. Q.6
1B&HmI QuUITg L MG - L5.&.10

Hcf means Highest common factor.

Find the Hcf of 10, 25 ?

L5.QlL.6U SIT600TS 10, 257

10 ---> 5 x 2
25--->5x5

Here common factor is 5. So Hcf is S.

Lcm means Least common multiple.

Find the Lcm of 10, 25 ?

L5.8..0 &M6evoTs 10, 25?

10,25=5x%x2x5=250

Multiply all the multiples. So Lcm is 50.

Product of two numbers = Product of their H.C.F. and L.C.M.

@\ erevor&6erfleor CQLI(HSSHMLEV6T = LOl.GL.6u X LO.&.1D

The H.C.F. of two numbers is 23 and the other two factors of

their L.C.M. are 13 and 14. The larger of the two numbers is:
A. 276
B. 299
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C. 322
D. 345

Answer: Option C

Explanation:

Clearly, the numbers are (23 x 13) and (23 x 14).
Larger number = (23 x 14) = 322.

H.C.F. and L.C.M. of Fractions

1. HCF = HCF Of Numerators / LCM Of Denominators
Find the HCF of 2/5, 6/7, 8/3.

HCF = HCF of (2,6,8) / LCM of (5,7,3).

HCF = 2/105.

2. LCM = LCM Of Numerators / HCF Of Denominators
Find the LCM of 2/5, 6/7, 8/3.

LCM = LCM of (2,6,8) / HCF of (5,7,3).

LCM = 24/1.
LCM = 24.
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General Questions and Answers

1. Find the HCF of

2*X 52X 7°X 117,

7°X 5*X 27X 13,

5°X 22X 7'X 17.
For this question we need to take common factors first, and
then lowest powers.
Here common factors are 2, 5, 7.
Then write their lowest powers.

Answer = 2% x 5%2x 73,

2. Find the LCM of
2*X 52X 7°X 117,
7°X 5*X 2"X 13,
5°X 22X 7*X 17.
For this question we need to write all the given numbers , and

then write their Highest powers.

All the numbers are 2, 5, 7, 11, 13, 17.

Then write their Highest powers.

Answer = 2" x5°x 7°x 11%x 13 x 17.

3. The LCM and HCF of two numbers are 45 and 3 respectively,

their sum is 24, what is their difference?
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Qm erevnsaflenr WL WLOHMID WU (WMGW 45, 3. GLO§Y|LD
UMM Fa(hH6L 24 6T63fleL HeuUMMI6HT QNG HIWITFLD 6T 60T60T?
a.2b.4c.6d.8

Answer: c

Explanation:

LCM =45

HCF =3

Let the numbers be x & y:

X +y=24...(1)

We know that,

x.y = HCF . LCM

xy = 45.3 = 135

y = 135/ x...(2)

Substituting 2 in 1:

x + 135/x = 24

X2+ 135-24x=0

Thus x= 15 or 9

Thusy =9 or 15

Thus the numbers are 9, 15

Their difference is 6

4. The greatest number of 4 digit which is divisible by 20, 25,
60 and 100 is
20, 25, 60 LOHMILD 100 360 QUGLUL GFalqgl CQUFIW BTG Q6v&HS

6T 6001 T g?
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a. 2000 b. 4000 c. 5000 d. 6000
Answer: d

Explanation:

The lcm is 300.
if we divide greatest 4 digit no. (9999) with 300, we get a
remainder . By subtracting the remainder from 9999 we get the

required answer. The required answer is 9900

5. Three numbers are in the ratio 1:2:3. Their highest common
factor is 12. Find the numbers.
CLOGITM)| 6TCUUTGH6NT 1:2:3 6T60TM aIlHHHH6L 2 6iTenenr. Seummlesr LOICILIeY

12 6160fl6L iH& 6T 6001S61T?

a. 12,24, 36 b. 24,48, 72 c. 12, 24,48 d. 48, 60, 72
Answer: a

Explanation:

Since, the numbers are given in the form of ratio that means
their common factors have been cancelled.

Each one's common factor is HCF.

And here HCF = 12,

hence, the numbers are 12, 24 and 36.

6. The smallest 6 digit number which is exactly divisible by 111
is

111 460 (P(PEUFGID UGUULSEalqW OIS S 6 Qev&8 6rewor?
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a. 1,00,111 b. 1,00,000 c. 1,000,011 d. 1,11111
Answer: c

Explanation:

The smallest 6-digit number 100000.

111) 100000 (900
99900

Required number 100000 + (111 - 100)

100011.

7.

. TheHCFofx3*+1andx*—1is
a. x3—1 b.x3+1 c.x+1 dx-1

Answer: c

Explanation:

The factors of (XA3 + 1) = (X + 1) (X*2 + 112 + 2 X)

The factors of (X" - 1) =(X"2-1) (X2 +1)=(X+1)(X-1)
Common Factor is = (X + 1)

HCF = (X + 1)

8. Six bells commence tolling together and toll at intervals of
2,4, 6,8 10 and 12 seconds respectively. In 30 minutes, how
many times do they toll together ?

M| Wefl&er (WPammGw 2,4,6,8,10,12 aIlOITY & EHEHEG @@ (LPEOM
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@60l eT(pUYHermert. 30 HILAIL MiGeafleL SiHG LO6U&HENT 6T 58 60 6ot
W CEIHE @HMMTS @SS ([HSELD?

A. 4
B. 10
C. 15

D. 16
Answer: Option D

Explanation:
L.C.M. of 2, 4, 6, 8, 10, 12 is 120.

So, the bells will toll together after every 120 seconds (2
minutes).

30
In 30 minutes, they will toll together _ + 1 = 16 times.
2

9. The ratio of two numbers is 3 : 4 and their H.C.F. is 4. Their
L.C.M. is:

@geor(h eTevurseT (PmMMGW 3:4 &G HH6L @& & 6oTm 6.
Sieummleir LBIGAUeu 4 eTerfleL LOIFILD 6T6dT6OT?
A. 12

B. 16
C. 24

D. 48

Answer: Option D
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Explanation:

Let the numbers be 3x and 4x. Then, their H.C.F. = x. So, x = 4.
So, the numbers 12 and 16.
L.C.M. of 12 and 16 = 48.

10. Which of the following fraction is the largest ?
SLp& L Letrermisefled CQUflul erevor 618)?
7

A. _
8

ke

iy

D.
Answer: Option A

Explanation:

L.C.M. of 8, 16, 40 and 80 = 80.
7 70 13 65 31 62

— ?

?
8 80 16 80 40 80

8 | www.winmeen.com | Paid Copy — Don’t Share With Anyone



javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;

Winmeen VAO Mission 1001|2018

70 65 63 62 7 13 63 31
Since, > > > , SO _ > > >

80 80 80 80 8 16 80 40

7
So, _ is the largest.
8

Previous Tnpsc Questions

1. The least common multiple of 24, 36 and 40 is
a. 340 b. 360 c. 230 d. 400

Answer: b

2. The LCM of 148 and 185 is
a. 690 b. 760 c. 740 d. 1010

Answer: c. 740

3. Find the LCM of 8, 15, 24 and 72
a. 350 b. 360 c. 720 d. 735

Answer: b

4. HCF of 513 and 1134 is
a.9b. 81 c. 27 d. 31

Answer: c

5. The HCF of 3556 and 3444 is
a.28b.32c.43d. 18

Answer: a
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6. The LCM and HCF of two numbers are 45 and 3 respectively,
their sum is 24, what is their difference?
a.2b.4c.6d.8

Answer: c

7. The product of two numbers is 4107 and their HCF is 37. The
larger number is
a. 185b. 111 c. 107 d. 101

Answer: b

8. The LCM of two numbers is 495 and their HCF is 5. If the
sum of the two numbers is 100, then find the difference of the
two numbers

a. 10 b. 46 c. 70 d. 90

Answer: a

9. The LCM of two numbers is 48. The numbers are in the ratio
2:3 the sum of the numbers is
a.35b.40c. 60d. 111

Answer: b

10. Three numbers are in the ratio 1:2:3 and their HCF is 12.

The numbers are
a.4,8,12b.5, 10, 15c. 10, 20, 30 d. 12, 24, 36

Answer: d
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11. The ratio of two numbers is 3:4 and their HCF is 4. Their
LCM is
a. 12b. 16 c. 24 d. 48

Answer: d

12. Find the greatest number that will divide 43, 91 and 183 so
as to leave the same remainder in each case
a.4b.7c.9d. 13

Answer: a

13. The greatest number of 4 digits which is divisible by 20, 25,
40 and 75 is
a. 9600 b. 3000 c. 9800 d. 8540

Answer: b

14. Find the greatest number of four digits which is divisible by
15, 25, 40 and 75. a. 9000 b. 9400 c. 9600 d. 9800 Answer: c

15. The greatest number of 4 digit which is divisible by 20, 25,
60 and 100 is
a. 2000 b. 4000 c. 5000 d. 6000

Answer: d

16. Find the smallest number which when diminished by 7, is

divisible by 12, 16, 18, 21 and 28.
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a. 1008 b. 1015 c. 1022 d. 1032

Answer: b

17. Six belles commence tolling together, afterwards they toll at
intervals of 2, 4, 6, 8, 10 and 12 seconds respectively. In
30minutes, how many times do they toll together?

a.4b.10c. 15d. 16

Answer: d

18. LCM of two prime numbers x and y (x>y) is 161. The value of
dy-xis a.-2b. -1c.1d. 2 Answer: a 25. If the highest common
factor of 65 and 117 is expressed in the form of 656m + 117n,
then find the value of m and n.

a.3,2b.3,-1¢c.2,-1d. 2, -3

Answer: c

19. Find least common multiple of 4/5, 3/10 and 7/15.
a.84/5b.5/84c. 2/15d. 12/15

Answer: a

20. The LCM of 1/3, 5/6, 2/9, 4/27 is
a.1/54 b. 10/27 c. 20/3 d. None of these

Answer: c

21. Find the HCF of 4/9, 2/5, 6/8, 2/5 a. 1/180 b. 2/481 c.
2/350d. 1/142
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Answer: a

22. The HCF of two numbers is 8, which one of the following
can never be their LCM?
a.24 b. 48 c. 56 d. 60

Answer: d

23. The product of the two numbers is 900. If the LCM of these
two numbers is 300, then find HCF.
a.3b.6c.9d. 12

Answer: a

24. The product of two co-prime numbers is 117. Their least
common multiple is
a.351b.39c.234d. 117

Answer: d

25. Two numbers are in the ratio 3:4 and the product of their
LCM and HCF is 10800. The sum of the numbers is
a. 180 b. 210 c. 225 d. 240

Answer: b

26. Three numbers are in the ratio 1:2:3. Their highest common
factor is 12. Find the numbers.
a. 12, 24, 36 b. 24, 48, 72 c. 12, 24, 48 d. 48, 60, 72

Answer: a
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27. If the two numbers are in the ratio of 2:3 and the product of
their highest common factor and least common multiple is 150,
then find the sum of the numbers.

a.5b. 10 c. 20 d. 25

Answer: d

28. Find the least number which when divided by 5, 6, 7 and 8
leaving a remainder 3, but when divided by 9 leaves no
remainder?

a. 1677 b. 1683 c. 2523 d. 3363

Answer: b

29. The greatest number that will divide 137, 182 and 422
leaving a remainder 2 in each case is,
a. 15b. 21 c. 12 d. 22

Answer: a

30. The greatest number that will divide 137, 182 and 422
leaving a remainder 2 in each case is
a. 15 b. 21 c. 12 d. 22

Answer: a

31. The greatest number which on dividing 1657 and 2037
leaves remainders 6 and 5 respectively is

a. 123 b. 127 c. 235 d. 305
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Answer: b

32. What is the largest number by which when 2109, 2790 and
3471 are divided then 1, 2 and 3 are obtained as remainders
respectively?

a.48 b. 68 c. 38 d. 86

Answer: b

33. The greatest possible length which can be used to measure
exactly the lengths 4m 95cm, 9m 45cm and 16m

65cm is

a. 45cm b. 35cm c. 25cm d. 15cm

Answer: a

34. The greatest number that exactly divides 105, 1001 and
2436 is
a.7b.3¢c.9d.5

Answer: a

35. The least number exactly divisible by 12, 15, 18, 21 is
a. 68040 b. 34020 c. 2510 d. 2520

Answer: d

36. The HCF and LCM of two numbers are 12 and 144
respectively. If one number is 36, find the other number.
a.49b. 50 c. 36 d. 48

Answer: d
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37. LCM of two numbers is 14 times their HCF. The sum of LCM
and HCF is 600. If one number is 280 then the other number is
a.40b. 60 c. 80d. 100

Answer: c

38. The product of HCF and LCM of two expressions is equal to
the

a. Sum of two expressions b. square of HCF c. Product of
expressions d. Square of LCM

Answer: c

39. The product of two co-prime numbers is 117. Their LCM
should be
a.1b.117c. 1/117 d. None of these

Answer: b

40. Three numbers are in the ratio 3:4:5 and their LCM is 240.
Then the HCF of these number is
a.4b.8c. 12 d. 20

Answer: a

41. Three numbers are in the ratio 1:2:3 and their HCF is 12.
The numbers are
a. 4,8,12 b. 5,10,15 c. 12,24,36 d. 10,20,30

Answer: c
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42. A number when divided by 2, 3, 4, 5 and 6 leaves remainder
1, 2, 3, 4 and 5, it is divisible by 7, then the least possible
number is

a.117b. 119 c. 113 d. 121

Answer: b

43. The sum of two numbers is 187 and their HCF is 17. What is
the number of such pairs of numbers satisfying the above
conditions?

a.1b.4c.5d.7

Answer: c

44. The smallest 6 digit number which is exactly divisible by
111 is
a. 1,00,111 b. 1,00,000 c. 1,00,011 d. 1,11111

Answer: c

45. The least number which when increased by 1 is divisible by
12, 18, 24, 32 is a. 278 b. 288 c. 287 d. 279

Answer: c

46. Find the greatest number which will divide 3322 and 3832
leaving the remainder 7?
a. 75b. 255 c. 80 d. 81

Answer: b
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47.

LCM of a¥ a**3 a***forallk e N is

a. a<*’ b. a® c. a**® d. a¥**
Answer: d
48.

Find the Least common multiple of (2x% — 8), (3x? — 9x + 6) and (6x% + 18x +
12)

. 2(x+2) (x+1)(x-1)(x+3)

b. 3(x-2) (x+1)(x+3)(x-1)

. 6 (x-2) (x+2)(x+1)(x-1)

. B(x+2) (x-1)(x-2)(x+3)

ju¥]

o 0

Answer: c

49.

.TheHCFofx*+1andx*—1is
a. x3-1 b.x?+1 c.x+1 d.x-1

Answer: c
50.

Find the LCM of 4°, 481 4% and 4’
a. 4% b4 c.4? d. 47

Answer: a

51.
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The LCM of a® + b3 and a* — b* is

a. (@®+ b (@-b)

b. (a> + b?) (a —b)

c. (a+b)?

d. (@ + b?) (@ + b?)) (a-b)
Answer: d

52.

HCF of 20¢ - y9) , 50¢-y?)
a. X-y b.2(x-y) c 10(x=y)

Answer: a

53.

. The HCF of x2 + 4x =12, x® + 6x* — 16x
a. Xx+2 b.x-2 c2x d xx-2)

Answer: b
54.
81 729 6561
HCFS?f % ’23? \ % 81 81
Answer: a
55.

Find the LCM of a3b*, ab®a nd a?b’
a. a’b®  b.a*b’ c. a*b® d.ab’®

Answer: b
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